’rbeneﬁt

Caliper Repair Kits

LAY

. AL ARARLEAN

|

HYDRAULIC SERIES
281...291

www henefitauto.com.tr f

¥ ([ /benefitcaliper



@ benefitauto.com.tr 0 o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




HYDRAULIC SERIES

Caliper Dust Cover Set DAF 1522163 - DENNIS CASP9670 - ERF STRSP9670
7501 P MAN STRSP9670 - NISSAN 69028710 - FORD 87DB2W302BA
SP9670 OPTARE R200076 - VOLVO 3090940

ARGNO | DESCRIPTIONOF GOODS | DIMENSION | PGS ]

7052  Bolt Plug @22 x 12 mm 2

o 7053 Bolt Plug @22 x 8 mm 2

1087 Dust Cover 2

6112 O-ring 1

6113 O-ring 2

6114 Sealing 1

6115 Sealing 2

6110 Circilip 1

6109  Circilip 1

ol e S X o 1090 Dust. Cover 2

*OY 1092  Sealing 2

el 6111  O-Ring 1
ol @ o o

- 7502 SAEET U T e IVECO 93161036 - 93191505
SJ1030

Py

7054 Bolt Plug 224 x 12 mm 2

1087 Dust Cover 2

6108 Nut 2

6112 O-ring 1

1 , 6113 O-ring 2

6114 Sealing 1

6115 Sealing 2

‘ } 6110 Circilip 1

6109 Circilip 1

1089 Dust Cover 2

| .1 . 1091 Sealing 2
St 6111 O-Ring 1

PART li D
7505 CallpeHERCeYRIEY IVECO 93161034 - 93161471
(oo | oesorerioNor Goobs | pmexsion | ros

o 7054  Bolt Plug @24 x 12 mm 2
1087 Dust Cover 2
6108  Nut 2
6112  O-ring 1
6113  O-ring 2
‘ , 6114  Sealing 1
6115  Sealing 2
6110  Circilip 1
o 6109  Circilip 1
1090 Dust Cover 2
y 1092  Sealing 2
[ - 6111  O-Ring 1
g = \ e
7506 Caliper Dust Cover Set DAF 1522162 - DENNIS CASP9669 - ERF STRSP9669
OPTARE X2057635 - VOLVO 3090939 - FORD 87DB2W302CA

SP9669

ARGNO | DESCRIPTIONOF GOODS | DIMENSION | PGS ]

7052  Bolt Plug @22 x 12 mm 2
O 1087 Dust Cover 2
6112  O-ring 1
6113  O-ring 2
O 6114  Sealing 1
' 6115  Sealing 2
6110  Circilip 1
O 6109  Circilip 1
1093  Dust Cover 2
A B 1092  Sealing 2
I ‘ H D Q 6111 O-Ring 1
' 7053  Bolt Plug @22 x 8 mm 2
Gl e 1088  Dust Cover 2
@ benefitauto.com.tr 0 o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS HYDRAULIC

SERIES




HYDRAULIC SERIES

7500 Caliper Dust Cover Set 7503 Caliper Dust Cover Set
EI) spsser G seesee

Qe 8/

S g2ax12mm 4

-

\=Tll=] DAF 1522174 - RENAULT 5001 014 679 - 5001 829 892 - DENNIS CASP8597 VEHICLES gﬁ;sgﬂgs}gsmu“ Sl D GIEY = IS CASIRERES = (L5 000 421 B
7504 Caliper Dust Cover Set 7508 Caliper Dust Cover Set

(oem o JENETIEYS EIIT) spsses

. oo.? S

222 x 12 mm
224 x 12 mm @22 x 8 mm
IVECO 93161552 - DAF 1522160 - DENNIS CASP8564 - OPTARE R1800031
Ae]  IVECO 91361028 - 93161028 MWl RENAULT 5001 014 701 - 5001 829 895 - VOLVO 3090937

7514 Caliper Dust Cover Set 7531 Caliper Bolt
EX%) spsser [oE o [

S O8 - jum jam

@22 x 12 mm

S8 o mwm feam

@22 x 8 mm

\/=,1[6{H=]  DAF 1522161 - VOLVO 3090938 VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




HYDRAULIC SERIES

7509 Caliper Guide & Bush Repair Kit 7510 Caliper Guide & Bush Repair Kit

EIT)  spsses &I sJ1035-sT1153

220x71 mm @20 x71 mm i
M12 x /1,25 x 85 mm M12 x 1,25 x 85 mm

VEHICLEs | WO S = 7 12203 = DI ©Apisfes = IS Qs V=T l=L] IVECO 93161029 - 93161472 - DAF 1522179 - MB 000 420 0476

1

)

Q

@22 x 8 mm

@22 x 12 mm

PR
b T

@24 x 12 mm

OPTARE X1857624 - VOLVO 3090851

7511 Caliper Guide & Bush Repair Kit 7512 Caliper Guide & Bush Repair Kit

(0w N0 [RENTIP) (0w No JRENETIEY

¥

220 x71 mm @20 x71 mm

- - St i b et

M12 x 1,25 x 85 mm

. @24 x 12 mm
\"/=LI[GEEY  [VECO 93161475 A=l | [¢B =3 IVECO 93161037 - 93161473

M12 x 1,25 x 85 mm

a v
b e

@24 x12 mm

7513 Caliper Guide & Bush Repair Kit 7530 Caliper Bushing Set

CEI) spsso2 [oEw o [
@ 20 x 80 mm ': Iﬁ ‘i

M12 x'1,25 x 95 mm
P .
A= [[6lBY  DAF 1522173 - DENNIS CASP8902 - MB 000 421 1463 VEHICLES [

@ benefitauto.com.tr 0 o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS HYDRAULIC
SERIES




EAL

@ HYDRAULIC SERIES

7515 Caliper Hand Brake Kit [ [
Ca) sessio

CONC T
1_ — M— V' & 7515  Caliper Hand Brake Kit

.

7516 Caliper Hand Brake Kit [ [

(oem o [IRENETEY
(o ey e I
1“ — _ — ’4&“ 7516  Caliper Hand Brake Kit

| ﬁll
ﬁ':f & = 4« -\A

OO

‘--

Caliper Hand Brake Kit
PAR-r m 751 7 p -----

7517 Caliper Hand Brake Kit

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




HYDRAULIC SERIES

ulYe] 7518 to Adjuster Kit N
(oem o ENETEY
) B ol M MEZR

7518 Caliper Auto Adjuster Kit @258 mm
e
LR
<>
Nalel 7519 Caliper Hand Brake Piston 7520 Caliper Piston

%) 68320204 ©58/63 mm %) ss320070 258/63 mm

A - 'k;
PF < )‘

AN | WO

VOLVO 1698208 VOLVO 1697452

el 7521 Caliper Auto Adjuster Kit [
) | sutoe2
e )

7521 Caliper Auto Adjuster Kit @68 mm

U\ 7522 Caliper Hand Brake Piston 7523 Caliper Piston

%) 68320293 ©68/63 mm %) 68320021 ©68/63 mm

<8 v (,e&‘

----- VOLVO 1697458

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

HYDRAULIC
SERIES



EAL

HYDRAULIC SERIES

DulYe] 7524 Caliper Auto Adjuster Kit

m SJ1215

IVECO 93161040

ARC NO DESCRIPTION OF GOODS m-

7524 Caliper Auto Adjuster Kit 260/63 mm
Vel 7525 Caliper Hand Brake Piston 7526 Caliper Piston
) | 68321603 260/63 mm ) 31320085 ©60/63 mm
N
S, ﬂ
D (
o' ] |
----- IVECO 42530548
Y 7527 Caliper Auto Adjuster Kit IVECO 93161244
) su214
s e )
7527  Caliper Auto Adjuster Kit 268 mm
‘ L B
b\l 7528 Caliper Hand Brake Piston 7529 Caliper Piston
CEIT) 68320567 ©68/63 mm %) 68320564 ©68/63 mm

\‘ﬁ‘ : ﬂ x_\_& 4
|
€. €.
(R R
A
s
----- IVECO 93159285

@ benefitauto.com.tr 0 o @ Ibenefitcaliper @

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BREMBO SERIES

8500 Brake Repair Kit

Caliper Guide & Bush Repair Kit

A= 1[6/H=CY [VECO 93162193

Caliper Guide & Bush Repair Kit

T . .

¥ e
i b o= =
M. ! T albjlall ulll:\.l...I|

Caliper Dust Cover Set

=L I[¢R=3  IVECO 93162192

@ benefitauto.com.tr 0 O @ Ibenefitcaliper

5633

— oreeeromn —

_-. . . ‘: | 3 h
s [ it
5 A

[
A= ([e]H=EY [VECO 42555416 - RENAULT 5001 874 377

PART NO I 17734

— 218x 66,70 mm -

Caliper Guide & Bush Repair Kit

Caliper Guide & Bush Repair Kit

A= [E=C)  MB 000 420 0054 - 000 421 0850

Caliper Guide & Bush Repair Kit

8523
(ozm N

E
[

| |
|

Al

@ 22 x 97,80 mm

cimk ‘ AR TR
j T T ‘; —————

ikl i kalL
VEHICLES [

8502

Caliper Dust Cover Set

& OB

AL I[GEEY IVECO 93161847 - 42555416

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

HYDRAULIC
SERIES



HYDRAULIC SERIES

Caliper Dust Cover Set

VEHICLES S

8505

Caliper Crank

R
i

SPSEY VLS P

VEHICLES e

8522 Caliper Holder

VEHICLES cmere

8509 Caliper Spring

VEHICLES S

@ benefitauto.com.tr 0 o @ Ibenefitcaliper

Caliper Crank

8504

VEHICLES (S

sl 8506

Caliper Holder

VEHICLES [

8508 Caliper Adjusting Latch

VEHICLES [

8510 Caliper Bushing

VEHICLES (R

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BREMBO SERIES

8516 Caliper Bolt 8512 Caliper Anti Rotation Plate

S Soems P¥ . ¢

VEHICLES [ VEHICLES [ s

Zul\e] 8513 Caliper Adjusting Mechanism 8514 Calibration Bolt

VEHICLES [ VEHICLES [E

8517 Caliper Adjusting Latch 8518 Caliper Repair Kit

VEHICLES [ VEHICLES [

8519 Caliper Bushing 8520 Caliper Bearing

VEHICLES [ VEHICLES [

@ benefitauto.com.tr 0 o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS HYDRAULIC
SERIES




HYDRAULIC SERIES

Caliper Pin Repair Kit [

ARGNO | DESCRIPTIONOF GOODS | DIMENSION | PGS )

2080 Caliper Pin

2081 Caliper Pin

1120 Caliper Pin Dust Cover
3090 Caliper Pin Bolt

1121 Caliper Pin Plastic Bush

S NN = A

7534 Caliper Pistons Repair KitQ48mm [~ __

8158 Caliper Piston @48mm
1122 Caliper Piston Dust Cover 2
1123 Caliper Piston Seal 2

Caliper Pistons Caliper RepairKit [ __ [

ARC NO DESCRIPTION OF GOODS m-

8158  Caliper Piston @48mm

7536 Caliper Dust CoverSet ~  mm

1120  Caliper Pin Dust Cover
1121 Caliper Pin Plsatic Bush
1122  Caliper Piston Dust Cover
1123  Caliper Piston Seal

@ benefitauto.com.tr 0 o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

NN =N




MANGO CALIPER SERIES

Caliper Dust Cover
7537 vericres [

1122 Caliper Piston Dust Cover 2
1123 Caliper Piston Seal 2

Caliper Repair Kit Complete For Mango S [

ARGNG | DESCRIPTIONOF GOODS | DIMENSION | PCS ]

2080 Caliper Pin 1
2081 Caliper Pin 1
1120 Caliper Pin Dust Cover 2
3090 Caliper Pin Bolt 2
1121 Caliper Pin Plastic Bush 1
8158 Caliper Piston 2
1122 Caliper Piston Dust Cover 2
1123 Caliper Piston Seal 2
@ benefitauto.com.tr 0 o @ [benefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS HYDRAULIC

SERIES




@ benefitauto.com.tr 0 o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




